9. goood

ggooood

0000000 capacitor 000000000 (inductor)00 0 00O (resistor)d
gooboooooboobod

e JOUODF=RID0O0O0O0ORODOO (DOODOOO)ODDOOOO
e 0 /0000D0UDDDOOODUOODOUUDD EO,00((MDOOO)QO

DDDDQ:CE,I:%DDDDDDDDDI:C%DDDDDCD

gobobooogbbobod
e 0 /O00D0DODDOOODOODDOO ED,L%:EDDDDDLD

gobobobogoobood

U0o00boobond EyeoswtDOOOoooooooono
gobobobobbooobboooobboooobbooobbboo oo
gbobbooogobbbuoobboooobbbooooobon

oo EFO0 FE=FEc+Erp+E, 00000000000
dE¢ dl

CW:I,LE:EL,ER:RI
godooooooooooooboooon
E:EC+ER+EL:EC+RCdd%+LCdZ_l%
oodobdootdtdz=F 0000000000
d?xz  Rdz 1 Ey
W%-EE%—E:U:ECOS@M
ooood
DDDDDDD)\Q—k%)\—F%:O.DDDDDDDDDDDDD

1( Ri R2 4 - —RC +VR2C? — 4LC
2% L L2 LC’ 2LC
1




dooooodooooooooooooonoobd aq, a OO OO0 OO OOO
goddudtub bbb boooud p+ve g
00000000000 «() 00ae*t + aze®?t, 0000 aje® + agte™, 00
00e*(ajcosvt+agsinvt) 000000
g t—ooUggpoogg x(t)—>0DDDD
goooboooobooooooooboooooooooonoooon
oooooooono

gooduooooboouonouooboouo ooodoo
goooououodao
taq tao t
_ 'Lwt 'Lu.Jt —taq € EO iwt —iwty\ —tas
o) =~ 2 [ W o atg e e
ta1 t(zw aq) t( iw—aq) etag Eo et(zw—ag) et(—iw—ag) t
- az—a12LC[zw—a1 —w — a1, a2—a12LC[iw—a2 —w — a2 |,

gboboobbuoobboobooboboboobboobuobbooboob

gooooooooooooobooooo
EO 6tzw e—tzw etiw e—tiw
—- - — + - : }
2LC’(0§ —a1)  w —1a1 —zwl— o1 dw — o 1—zw — X
0 tiw —tiw
_2LC(a2—a1){( w— g +iw—a2)e + —w — oy + —iw—ag)e }
Ey —iWw + Qo + W — Q1 4y, W+ g —iw — e~tiw)

- 2LC(ag — 1)~ (iw — aq)(iw — o) C(—iw — ap)(—iw — ag)
EO etzw N e—tzw

2LC " (iw — a1)(iw — az)  (—iw — aq)(—iw — az)

- EO etuu e—tzw

=310 R 1 R 1)

2 e il 2t _
w*+1 w—i—LC w zw—l—LC

goooooon
dz E iwel —jwe™
dt 2L{—¢g2—|—25w+i " —uﬂ—iﬁw—ki}
LC L LC

B OWE(){ Zetzw _ie—tzw }
=72 L0+ iRCw+1 ' —LCw? —iRCw ‘
_ CwEy ( (RCw — (LCw? — 1)i)e!™  (RCw + (LC’w —1)i)e _“‘"}
2 (LCw? — 1)%2 + R2C?w? (LCw? —1)2 + R2C2w?

Cuy rowt 1

gad ool eeUUdUUOUtang = —
V(LCw? —1)2 + R2C2w? ¢ ¢ RCw

00000 (R=0)0000000000000coswt, sinwet 0000000
1
00000 wy=—0000(LCw?—-1)2+R2C%w? = L2C?%*(w? —wd)? + R?C%w?

I =

VvLC
=0
LW wo
gooooobodd L O gobooboooogobogn
(7 —R) R
T T

goo %DDDDD

gooobobbobouoooooobobbbouoooooooboboboobbood
goobooo



gbooboobod

%D poodoopooobooboboobooboboobobooboobn

gad
D:.C* — (C™
OOooOoCc*0000b00o00ooonoobobonon
(D—-a)zr=Dr—ax0000000000000000000O0O0OOOOO
(operator) DO OO
"0 (D—a)z=0000000000(D-a)e=000000000

(D —a)e™) f(t) = D(e™) f(t) + " D(f(t)) — ae™ f(t) = (" D) £(t)
0000000 f()O0O0O0O00000O0O0OoOoOoOOO
(D —a)e" =e™D

D0000000000000000000000000000000000000
00000000000000
(D-a)z=0b(t)00000000000000

(D — a)(e“e™%z) = e D(e”"x) = b(t)

t
D*DDDDDDDDDDDDDDDDDDDDD*ﬂﬂz/ﬁﬂﬁ%DDDD
0

at

000000 D 'e=S"pOOO000O00O0O0O
a
000000(D—a)(e*e z) =e*D(e *z)=0b(t) 00O DO

e~ %y = D7 e %h(t)),
T =eD7 e %p(t))

oooooon
(_D _a>—1 — eatD—le—at

goboooog

d?z dz
W%—ala—i—agx:b(t)DDD 0000000000000

d? d
gf—kald—f—f—agx:DQx%—ale—I—agx
000000000 y)OOOOoooooooooooooo
)\2+a1)\+a2:()\—a1)()\—a2) oood

(D —a1)(D —az)z =(D —a1)(Dz — asx)
= D%z — ayDx — oy Dx + aasx
= D?x + a1Dx + asx

godd
(D—a1)(D—ag)z=0b() 0000

(D —ag)x = (D — ay) 7 tb(t) = et D=1 (e=ty(t)),
x = (D — ag) tet D7 (emlp(t))
— eagtD—l(e—agtealtD—l(6—a1tb(t)))



Ntadt+a=N-a)?0000(D-a)?z=0¢)0000

(D — )z = (D — o) tb(t)
= e D7 1(e (1)),
r= (D —a) e D (e b(t))
— eatD—l(e—ateatD—l(e—atb(t)))
— e D (D (e (1))

gogbobgbboboboboboboboboooooobobobobod
gobobooggn
O000y(y) 0000000000000 000D0ODDOOO0O0OooooO
gd2r0b0b0uoodobbbuooon

> o o
b(t)= Y cne™ =ao+ Y ancosnt+ Y by,sinnt

n=-—oo n=1 n=1

gboogbodgboogboobboobuodgbobboobboboboobooboon

at

DDDDDDD‘le“t:e—DDDDDDDDDDDDDD
a

Q2 d
DDE§+%§+%:2mMDDDDDDDDD
D?42D+2 = (D+1+i)(D+1-)000000(D+1+i)(D+1—i)x = et e

googdoooooon
(D+1—d)z=(D+1+14) e + e )
— ef(lﬂ')thle(lﬂ‘)t(eit + e—z‘t)
_ e—(1+z‘)tD—1<6(1+2i)t i et)

1+22)t
o

112
:(L+%

+e™),
x=(D+1-1i)7Y

62t

it "
142 + e
ezt

_ —(—it p—1,(-i)t —it
c ¢ 15(1+2z'+e )
_ (=it p—1 e (1—2i)t
¢ (i te )
)

ot p(1-2)t

, 1+m*‘1—%

B ezt + e—zt
C1+2 1-—2i ,

(1—2i)e (14 26i)e ™
- 5 + 5

t+4't

= — COS — S1n

5 5

000000000D~'000000000000000000000O000000
D-l00000000000D00D00D0O000O0O0On

— e—(l—i)t(




